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Instructions

® Use black ink or ball-point pen.

® Fill in the boxes at the top of this page with your name,
centre number and candidate number.

® There are three sections you must answer:
— Section A Questions 1-4
— Section B Question 5 and either Question 6(a) or 6(b) or 6(c)
— Section C Question 7.

® Answer the questions in the spaces provided
— there may be more space than you need.

® You must not use a dictionary.
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® The total mark for this paper is 100.
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

® Read each question carefully before you start to answer it.
® Check your answers if you have time at the end.
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SECTION A: READING

Answer ALL questions.

Write your answers in the spaces provided.

Multiple-choice questions must be answered with a cross in a box X.. If you change your
mind about an answer, put a line through the box 2¢ and then mark your new answer with
a cross X/, Open-response questions do not have to be written in full sentences and you may

respond using single words or phrases.
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DO NOT

SECTION B: WRITING
Answer Question 5 and either Question 6(a) or 6(b) or 6(c).

Write your answers in the spaces provided.
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(Total for Question 5 = 14 marks)
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Indicate which question you are answering by marking a cross X . If you change your mind,
put a line through the box $¢ and then indicate your new question with a cross X .

] Question 6(a) ] Question 6(b) [] Question 6(c)
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(Total for Question 6 = 26 marks)

TOTAL FOR SECTION B = 40 MARKS
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SECTION C: TRANSLATION INTO BANGLA

Write your answer in the space provided.

7 s @i ey SEm I |

Ancient Dhaka City was established on the bank of the river Buriganga. At that
time, this river influenced the city dwellers in trades and commerce. Eventually, the
communication has improved a lot from Capital Dhaka to the other parts of the
country.

Dhaka city is enriched with its historical background, a better quality of life, and
skilled workers. The development and expansion of the city never stopped after the
independence of Bangladesh. However, the increasing pollution due to the dying river
is becoming a big issue for the city dwellers.
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(Total for Question 7 = 20 marks)

TOTAL FOR SECTION C =20 MARKS

TOTAL FOR PAPER = 100 MARKS
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Source information
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